9/2/24, 10:44 AM

Parts Information

- Parts list -

Vehicle WDD2120771A068092 (D02)

Color 197 - Obsidian black - Metallic
finish

Assortment class PC

Sub-group 030 Steering knuckle and

transverse control arm

Parts_Information

E 63 AMG Sedan
Equipment

Group

808 - Leather/nappa/semi-

aniline - gray
33 Front axle

Image ID: drawing_PV000.010.158.718_version_001

Item Part number Designation/additional information Qty

10 A 212 330 01 20 STEERING KNUCKLE 1
LEFT
FH Code: M156+M63;

10 A 212 330 02 20 STEERING KNUCKLE 1
RIGHT
FFH Code: M156+M63;

© Copyright 2024 Mercedes-Benz AG
https://aftersales.mercedes-benz.com/xhpi/navigate;om=WDD2120771A068092;cat=D02;nav=33,030;callout=30(print:print/partslist) 1/5



9/2/24, 10:44 AM

Parts Information

Parts_Information

Item Part number Designation/additional information Qty
30 A 212 330 00 25 FRONT WHEEL HUB 2
FEH Code: -M005;
40 A 025997 16 47 * SEALING RING 2
T FEH Code: -M005;
50 A 000 990 43 60 CLAMP NUT 2
FH Code: -M005;
60 N 000000 003358  HEXALOBULAR BOLT 2
M6X25
FHf Code: -M005;
70 A 168 357 00 89 LOCKING CAP 2
FH Code: -M005;
200 A21233033 11 TENSION STRUT 1
LEFT WITH BEARING
FFH Code: M156+M63;
200 A21233034 11 TENSION STRUT 1
RIGHT WITH BEARING
FFH Code: M156+M63;
210 (Q 0000000001 IMPORTANT INFORMATION 2
PART IS NOT DELIVERED, ORDER NEXT HIGHER ASSEMBLY
FHH Code: M156+M63;
220 N 910105 014022 HEXAGON HEAD BOLT 2
[ TORQUE STRUT TO FRAME-TYPE INT. SUPP.; M14X1.5X120
220 A 2123330071 SETTING SCREW, CTRL. ARM 2
FOR ADJUSTING WORK ONLY
230 A 2203330076 SPACER DISK 4
TORQUE STRUT TO FRAME-TYPE INT. SUPP.
230 A 2203330076 SPACER DISK 2
Strut rod to integral carrier, left
230 A 2203330076 SPACER DISK 2
Strut rod to integral carrier, right
© Copyright 2024 Mercedes-Benz AG
https://aftersales.mercedes-benz.com/xhpi/navigate;bm=WDD2120771A068092;cat=D02;nav=33,030;callout=30(print:print/partslist) 2/5



9/2/24, 10:44 AM

Parts Information

Parts_Information

Item Part number Designation/additional information Qty

230 A2213330177 SPACER RING 4
FOR ADJUSTING WORK ONLY

230 A2213330177 SPACER RING 2
Only for adjustment operations, left

230 A2213330177 SPACER RING 2
Only for adjustment operations, right

240 N 000000 003281 HEXAGON NUT 1
Strut rod to integral carrier, left; M14X1,5
Replaced by: A 005 990 48 50

240 A 0059904850 HEXAGON NUT 1

') Strut rod to integral carrier, left; M14X1,5

Replaces: N 000000 003281

240 N 000000 003281 HEXAGON NUT 1
Strut rod to integral carrier, right; M14X1,5
Replaced by: A 005 990 48 50

240 A 0059904850 HEXAGON NUT 1

o Strut rod to integral carrier, right; M14X1,5

Replaces: N 000000 003281

240 A 0029905154 HEX. NUT W FLANGE + PIECE 2
FOR ADJUSTING WORK ONLY; M14X1.5

250 A 0003331071 SETTING SCREW, CTRL. ARM 2
FOR ADJUSTING WORK ONLY

270 N 000000 003277  NUT 2
STRUT TO STEERING KNUCKLE; M14X1.5
@,‘ [414] THE OLD PART MUST NO LONGER BE INSTALLED
FFH Code: -M005;
Replaced by: A 005 990 50 50

270 A 0059905050 HEXAGON NUT WITH FLANGE 2
STRUT TO STEERING KNUCKLE; M14X1,5
FFH Code: -M005;
Replaces: N 000000 003277

300 A218 33007 11 CROSS STRUT 1
LEFT
FH Code: M156+M63;

© Copyright 2024 Mercedes-Benz AG
https://aftersales.mercedes-benz.com/xhpi/navigate;om=WDD2120771A068092;cat=D02;nav=33,030;callout=30(print:print/partslist) 3/5



9/2/24, 10:44 AM

Parts Information

Item Part number

Parts_Information

Designation/additional information

Qty

300

A 218 330 08 11

CROSS STRUT
RIGHT
FFH Code: M156+M63;

310

A 212 330 01 35

BALL JOINT
CROSS STRUT

[, [002151] IMPORTANT: UP TO CHASSIS NUMBER A001281 STEERING KNUCKLE MUST ALSO BE

EXCHANGED, OBSERVE WIS!
FH Code: -M005;

315

N 000000 003277

NUT
LINK TO CROSS STRUT; M14X1.5

[, [414] THE OLD PART MUST NO LONGER BE INSTALLED

FFH Code: -M005;
Replaced by: A 005 990 50 50

315

A 005 990 50 50

HEXAGON NUT WITH FLANGE
LINK TO CROSS STRUT; M14X1,5
FFH Code: -M005;

Replaces: N 000000 003277

320

N 910105 014022
o

HEXAGON HEAD BOLT
CROSS STRUT TO INTEGRAL CARRIER; M14X1.5X120
FEH Code: -M005;

330

A 2203330076

SPACER DISK
CROSS STRUT TO INTEGRAL CARRIER

330

A 2203330076

SPACER DISK
Cross strut to left integral carrier

330

A 2203330076

SPACER DISK
Cross strut to right integral carrier

330

A 2213330177

SPACER RING
FOR ADJUSTING WORK ONLY

330

A 2213330177

SPACER RING
Only for adjustment operations, left

330

A 2213330177

SPACER RING
Only for adjustment operations, right

340

N 000000 003281

HEXAGON NUT
Cross strut to left integral carrier; M14X1,5

© Copyright 2024 Mercedes-Benz AG

https://aftersales.mercedes-benz.com/xhpi/navigate;om=WDD2120771A068092;cat=D02;nav=33,030;callout=30(print:print/partslist)

4/5



9/2/24, 10:44 AM

Parts Information

Item Part number

Parts_Information

Designation/additional information

Qty

Replaced by: A 005 990 48 50

340

A 005 990 48 50
<o

HEXAGON NUT
Cross strut to left integral carrier; M14X1,5
Replaces: N 000000 003281

340

N 000000 003281

HEXAGON NUT
Cross strut to right integral carrier; M14X1,5
Replaced by: A 005 990 48 50

340

A 005 990 48 50
o

HEXAGON NUT
Cross strut to right integral carrier; M14X1,5
Replaces: N 000000 003281

340

A 002 990 51 54

HEX. NUT W FLANGE + PIECE
FOR ADJUSTING WORK ONLY; M14X1.5

350

A 000333 10 71

SETTING SCREW, CTRL. ARM
FOR ADJUSTING WORK ONLY
FH Code: -M005;

370

N 000000 003277

NUT

CROSS STRUT TO STEERING KNUCKLE, LEFT AND RIGHT; M14X1.5

[, [414] THE OLD PART MUST NO LONGER BE INSTALLED
FFH Code: -M005;
Replaced by: A 005 990 50 50

370

A 005 990 50 50

HEXAGON NUT WITH FLANGE

CROSS STRUT TO STEERING KNUCKLE, LEFT AND RIGHT; M14X1,5

FFH Code: -M005;
Replaces: N 000000 003277

© Copyright 2024 Mercedes-Benz AG

https://aftersales.mercedes-benz.com/xhpi/navigate;om=WDD2120771A068092;cat=D02;nav=33,030;callout=30(print:print/partslist)

5/5



